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At adlanm & fole Ascagel o
Subject : English
Class : X (Tenth)

General Instructions :

Model Practice Paper —1

M.M.: 80

{1}  Candidate must first write their Roll Nos. on the question paper.

{2y All the questions are compulsory.

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

in confinnity.

Section—A (Reading)
Read the lollowing passage cavelully and
answer the questions that follow :
Passage 1

Coul 1ar is black and sticky. For a long
time, people thought of it as a nuisance.
This oily, smelling substaice blocked up
the pipes, so gas makers and coke makers
washes it oul and tried o gel rid ol it
Some of it was sold for roofing but most
ol it was wasted. But this evil smelling.
nuisance has been found to be one of the
maost uselul of raw materials in the world.
From it the chemist is able to make almost
anything he wishes (rom medicines 1o
explosives, from dyes to disinfectants.
Not all these things are made [rom coal tar
itself. Only about a dozen simple products
come [rom it. But rom these the chemist
is able to make thousands of new
substances. Some ol the most important
things made from coal tar are dyes. A
whole rainbow ol colours 18 made irom
coal - tar. More than nine hundred ditferent
coal lar dyes are in common use. These
dyes not only give fine colours to our
clothes, ribbons, shoes and hats, bul also

wd e

give pleasing colours to many of our
sweels and drinks. Some ol the coal tar
dyes serve another purpose besides that
ol giving colour; they are used o heal
wounds. Many important medicines are
made rom coal Lar. Carbolic acid is one
such. Another is used by a dentist when
he pulls oul a tooth. It deadens the nerves
in the gum. So that, no pain is felt.

Why was coul - tar considered a
nuisance? |
Name two uses 1o which coal tar is pul. 1
What are the uses of the coal war dyes

mentioned in the passage? |
When does a dentist use the medicine that
comes from coal tar? 2

(i) TFind oul (rom the passage the word
which is opposite to 'Simple’. 2

(iiy Write lrom the passage the word
which means 'Source of annoyance'.

Passage 2

Read the following passage carefully and

answer the guestions thal iollow :

The earth is occasionally hit by craggy

remnants of creation known as asteroids.

About 150 are known Lo cross the earth's
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6.

10.

ERk B

path, These lie 1n a loose belt between the
mars and Jupiter like so much rubble lelt
over from creation. The first asteroid was
e faint 1o be seen by the nuked eye. It
was discovered by an Italian monk named
Guiseppei, Piazzi, working al an
observatory in Palermo, Sicily. The largest
lound so (ar is about 8 Km wide, slamming
into the earth at roughly 26 Km a second,
a large asierold could explode with the
force of a million hydrogen bombs, lifting
enough rock and dust w block mast
sunlight. Cold and darkness could last for
months, destroying agricullure and
probably a good part of modern
civilization, leading 1o the deaths ol a
billion or more people from starvation.

"The risk is real”, Dr. David Morrison ol
the national aeronautics and space
Administration's {INASAY Ames research
centre in California, who was co -
chairman ol the study by nearly 100
scientists, said in an interview. Dr.
Morrison lurther says that the asteroid
threat has dawned on. Scientists only
slowly slowly and is hard Tor layman w
comprehend. But the fact, he said, is that
mankind lives in a kind ol cosmic shooling

gallery.
What are asteroids? |
Where do asteroids lie? L
What can a large asteroid do by hitting the
gurth? |
What does Dr. David Morrison say
regarding the asteroid threat? 2
(i) Find out from the passage the word
which is opposite 1o 'Slowly'. 2

(ii) Write from the passage the word
which means 'small remaining
quantity’.

11.

12,

Section—B  (Writing)
You are Ranu living in Dholpur. Your
friand Neha has won a gold medal in the
state English debale compeltition. Wrile a
letter to congratulate her. You may take
help of the iollowing points : 5
(1) How did you come to know about it?
(i
{ii1)

Congratulate her on her success.

How does she leel aboul her
achievement?
{iv)

(v)

Good wishes Tor a bright tulure.
Invite her for a visit to your place.
OR
Write an application to the principal,
requesting her/ him o mlorm you about
the payment of the scholarship of the last
year.
‘Write a short paragraph in about 60 words
with the help ol the given outline. 4
How [ prepared tea........ one day
alone wanted tea
kitchen ....... powred waler ......... lighted
gas - store place the kettle

.......... boiled .......... added lea leave,
sugar and milk .......... boiled again
cready ... sipped.
OR

A Visit to a Fair.
Write a paragraph in about 75 words on

the given visual aid. 5

Rain Water Harvesting
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Section—C  (Grammar)

14. Till in the blanks with correct Torms ol the

17.

18.

Eak B

verbs given in the brackets: 4
i) We ........ (mol work) on Saturdays.

(i) I ....... {read) while my brother
......... (ride) his cycle.

(1it) Look! The river............ {low) very
fast now.

Join the iollowing sentences using the
relative pronoun/ adverb given in the
brackels : 2x144=3
{1) T know Mohan.

You have given him your car. (whom)
(1) She came here in winter.

It was very cold then. {when)
Chunge Lthe lollowing senlences inlo
passive voices 2x1=2
{i) He should have reported the maller

to the police.

The matter............

(i1) We should serve our parents.

Our parents...........

Rewrite the following sentences by

changing them into indirect speech: 4x1=4

{i) The teacher said, “"The earth maves
round the sun”.

The teacher said..............

(i1) The boys said, "We want to play a
malch™.

The boys said.................

(iit) Satish said o Manisha, "You
promised to ring me everyday".
Satish wld Manisha..........

(iv) He said 1o me, "What do you want
from me"?

He asked me.............

Fill in the blanks choosing sunitable model

lrom the brackets 2x1=2

(can, should, may, must)

19,

20.

(i) Work hard lest you............. fail.
(i He is warking hard so  that
he............. win a scholarship.

Scetion—D  (Text Book)

Read the passage given below and answer
the questions that [ollow :

His personality was normally calm when
everything was in order. When thers was
a litde hitch, however, he was exullant
and happy. He loved it when things went
wrong because thal meant that he could
then correct them. He loved to make the
crooked straight, (o crust down the uneven
places in lifa.

(1) What kind ol personality did he have
when everything was normal? |
What made him joylul and happy? 1
What did he love to do? 1
Wrile the word Irom (he passage
which means - obstacle. 1

(i)
{iii)
{iv)

Reuad the passage and answer the questions
that follow:

Now, I come to the next thing, viz. that
prayer is the every core ol man's lile, as it
is the most vital part of religion. Prayer is
gither petitional, or in its wider sense, is
inward communion. Even when it is
petitional, the petition should be ior the
cleansing and purification of the soul, for
freeing il from the layers of lgnorance
and darkness that develop it. He therefore,
who hungers lor the awakening ol the
divine in him must fall back on prayer.

(1) How is prayer the very core ol man's
life? 1
What should we pray lor? 1
How can the awakening of the divine
be brought about? 1
Write the word from the passage
which means 'lack of knowledge'.1

(i)
{iti)

{1v)
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21,

22,

Answer any one of the following
gquestions in about 60 words : 1x3=3
Why 1s 'Think - Tank's space crew puzzled
on the earth'? (The Book thal Saved the
Earth)

OR
Justify the title of the story 'The Tribute'.
Answer any one of the following question
in aboul 30 - 40 words : 1x3=3
What do you mean by health? (Positive
Health)

OR
Why should prayer be the essence of
human life in {Gandhiji's opinion?
(A Discourse on Prayer)

. Explain any one of the following stanzas

with relerence Lo the context @ Ix4=4
{1) But risk must be taken, because the
greatest hazard in lile is Lo risk nothing.
The person who risk nothing, does
nothing, has nothing, is nothing and
becomes nothing.
OR

"Let them go", T explained: "I've a
friend at my side,

To lile me, and aid me, whalever be
tide.

To trust 1o the world is 1o build vn the
sahd;

(i)

I'll trust but in heaven and my good
right hand.

24,

26.

27.

28.

mm .

Answer any two of the following
questions in aboul 30 - 40 words : 2x215=5
(1) Who is truly free? (Risks)

(iiy  Why did Cupid come 1o Flora? (The
Lots)

What is un elegy? (An Elegy on the
Death of a Mad Daog)

Answer any one of the following question
in about 80 words : 1x5=5

(i)

(1) "Guiffin was rather a lawless person”.
Explain. (Footprints Without TFeet)
(ii) "Growing up is all about a matter of

individuality”. Discuss.
Answer any one of the following
questions in about 30 - 40 words : 1x3=3
(1) How did the purple Jar lose it's favour
with Rosumond?
(ii) What were the belongings of Dursun
Agha? {Feast of the Dead)
Answer any one ol the (ollowing guestion
in about 20 - 25 words : I%2=2
(1) What was the topic ol the leclure
given by corporal turn bull?
(iiy  Who is the high Maharaja in the text?
Write a speech in about 80 words on the
"Car Pooling". Ix4=4
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Subject : English
Class : X (Tenth)

General Instructions :

Model Practice Paper —II

M.M.: 80

{1}  Candidate must first write their Roll Nos. on the question paper.

{2y All the questions are compulsory.

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

in confinnity.

Section—A (Reading)
Read the following passage carefully and
answer the questions that [ollow :
Passage 1

Cven oday in the materialistic world it is
honesty, sincerity and integrity which
paves the wiy lor lulure success and pays
much in the long run. Though for the time
being dishonesty, unlairness and black
markating lead to huge profits yet after
sometime the evils recoil upon the door
so character is the solid bases of success
even in trade and commerce. Honest and
fair dealing in business always lead to
contentment, success and prosperity. In
foreign countries great stress is laid on the
dictum ol honesty and as such they have
made remarkable progress in the field of
trade and commerce. Uniortunaiely due
to slavery, we have lost our morale and as
such ry o adopt dishonest and unlair
means even in business. We never think
the good ol our customers or dealers and
as such fail to proper in business. Now in
Iree country, iLis our pious duly Lo maintain
high standard of morality and avoid
dishonesly and unlair means o achieve a
nobler aim. A successful businessman
should have a high code ol morals and
always strive for fairness and goodness,

wd

nobility and honesty. He should not cheat
his customers by bagus and absurd things.
His dealings should be frank, straight
forward and honesl.

Where do dishonest and unlair practices

load to? 2
How should a successiul business man
behave? 1
What is our duly now in our [ree
country? 2

Why do we [ail 10 proper in business? |
Write from the passage the word which
means 'a formal expression ol opinion'. 1
Passage - 2

Reud the passage and answer the
following questions :

One of the greatest mysteries of bird's life
is wavelling. Bvery year during autumm
and early winter birds travel from northern
regions ol Asia, Europe and America 1o
the southern warmer lands. They make
the retwrn journey again during spring
and early summer. They are very punctual
unless they are delayed by bad weather.
They face many dangers and hardships
while travelling long distances through
the air over hills, forests, plains and large
stretches of water. Sometimes sudden
storms arise and drive them far out of
course. Olien they are blown righl oul o
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sea and are drowned in the wild waves. At
night bright lights attract and coniuse the
birds they cannot fly at their fastest. The
migration speed is nsually [rom 48 1o 64
Km an hour and rarely exceeds 80.

What dungers do they lace during their

journey? 1
Why can the birds [y last al night? 1
When do they make their return
journey? 2

Why do the birds come o the southern

lands? 2

Find out {rom the passage the words

which means.

() The movement ol birds lrom one
place to another.

(b)Y Find [rom the passage the opposile
of Ropel'.

You are Ramu Purohit Tiving at 137,

Adarsh Colony, Jaipur. Write a letter to

the Mayor. Jaipur municipal corporation,

Jaipur complaining about the poor lighting

in your localily. 5

OR

Imagine that you are Suresh. Write a letter

o your [riend telling him about the district

tournaments held in your school this year.

You may touch upon the lfollowing points:

{1) When did the tournaments start?

(iiy How long did they last?

(iii) In what games did you take part?

(iv) Who guve away the prizes?

(v) What was the programme on the
closing - day?

Wrile a paragraph in about 60 words with

the help of given outline.

A wisil Lo a historical place............ Tast
Sunday............... went to
Delhi................... hired a 1ourist
[P A DUDDUURU visited Rajghat, Vijay Ghat

14.

15,

went to the Red fort, Jama
Masjid BLE .o en, historical
importance and features.

OR
Write a paragraph on "The scene of Recess
period’ in aboul 60 words. 4

. Write a short paragraph in about 75 words

on the scene shown in the piclure.
Piclure ol 'Need ol Rain Waler
Harvesting'. 5

OR
Do you know aboul the lestivals of
Rajasthan? Write a paragraph in about
75 words telling aboul Rajasthan's
festivals. 5
Fill in the blunks with the correct form ol
verbs given in brackets. 4x1=4

(i) The sun.............. {se) belore the
TN e (Tall).
(ii) Why will she not join the police

when she............. {grown) up.
{i1) My father ........... {retire) next
maonth.

Join the following sentences using
pronouns/ adverbs given in brackets.
2x1'=3
(1) The boy is my brother. He is red shirt.
{who)
(iiy This is the village everyday is literale

here. (where)
hel-X
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Eak B

Change the following sentences into

passive voice. 2x1=2

{1) Has anybody answered this difficult
guestion?

Has this difficult question............
(iiy  Students should revise their syllabus

repeatedly.

Their syllabus............

Rewrite the lollowing senlences inlo

indirect speech : 2x2=4

(i) The doctor said 1o the patient, "Tuake
light fnod".

The doctor advised the patent..........
(ii) TIsaid to my friend, "Let us go to some

holy place”.

I suggested to my friend...........
Fill in the blanks choosing suitable modals
rom brackel. 2x1=2

(must, could, may, shall)

) DBvery citizen......... abide by the
laws of the nation.
(iiy The barking of the dog made me run

fastas L.........

Scetion—D (Text Book)

Read the following short paragraph and
answer the questions given below :

We should also understand our pavental
responsibilities to the world environment.
Remember hal the living space ol this
world is limited and we must have enough
space lor our lulure generations o live
happily to achieve that aim. We must
practice lamily planning and limit the
birth rate by having one or two children
per couple. Belween each birth there
should be a gap of three or four years so
that each child is not deprived of the right
to sufficient parental love and care. Family
planning really means family wellare as il
helps to keep women healthy enough to

20.

21.

22,

contribute to a happy home environment.
A happy healthy mother is 4 key 1o the
welfare of the whole family.

(1) Whal should we also understand? 1
(1) What 1is limited in this world? 1
{itl) What should we do ior our luturs
generations to live happily? 1
Find from the passage the word which
means:

'Prevent from having something'.
Read the (ollowing shorl paragraph and
answer the questions given below:

{1v)

The man who had brought the priceless
gift replied, "Sir, once before, on another
occasion like this, you invited a guesl
without knowing his name. That guest
was hiding in your rool’ and wishing you
ill, yet you treated him with honour and
courtesy. Could you not invite him Loday
as you did then".

The old gentleman remembered how he
had found the thief hiding in his roof.

(1) What did the man bring? 1
(iiy How did he invite a guest earlier? 1
{ii1) How did he treat with the guest hiding

in his rool? 1
{iv) Write the word from the passage
which means "Very costly'. 1

Answer any one of the following
questions in ahoul 60 words : 1x3=3
How can vou keep public places clean?
{What is Amiss with us)
OR

When does life become a terrible
busineass?

Answer one of the following question in
about 30 - 40 words :
'And that is how one duty, old book of
nursery rhymes saved the world rom a
Martian invasion' what was the book?

1x3=3
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How did it save the world? (The Book
that Saved the Earth)

OR
Why did Think - Tank express his
peevishness with Noodle? (The Book
that Saved the Earth)

. Explain any one the following stanzas

I x4=4
) Around irom all the neighbouring
streets

with relerence 1o conlext :

The wandering neighbours ran,
And swore the dog lost his wits,

To bite so good a man.

And Flora gave the lotus, rose - red -
dyed,

And 'lily white; the queenliest flower
that blows.

Answer any Lwo ol the lollowing
questions in about 30 - 40 words: 5
(i) Who is the [riend thal could help and
make the poet happy? (My Good
Right Hand)

What was the cause of quarrel
between the lily and the rose? (The
Lotus)

Wrile the main theme ol the poem.

(Risks)

(ii)

(ii)

(iii)

mm .

25.

26.

27.

28.

Answer any one of the following
questions in ahoul 80 words : 5
Growing up is all about a matter of
individuality. Discuss. (Growing up Paing)

OR
What is the moral ol the story - Uttanka's
Gurudakshina? (Uttanka’s Gurudakshina)
Answer any one of the following
questions in aboul 30 - 40 words : 3
What was Rosamond's reaction after
seeing the chemist's shop? (The Purple
Jar)

OR
How did the rising sun became the symbol
ol hape? (Resolution)
Answer any one of the following
questions in aboul 20 - 25 words : 2
Who was Gulnaz? Why did she panic?
{Feaust ol the Dead)

OR
Names the three children who flew kites
everyday? (High Maharajah)
What are
povling?

the advantages of car -
I x4=4
OR
When can an individual be issued a
driver's licence?
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Model Practice Paper —111

Time : 3% Hrs. M.M.: 80

General Instructions :

Eak B

{1}  Candidate must first write their Roll Nos. on the question paper.

{2y All the questions are compulsory.

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

in confinnity.

Section—A (Reading) 1. Who was Leonardo Da Vinei? When was
Read the following passage carefully and he bom? 1
answer the questions that [ollow : 2. What do his notebooks contain? 1
Passage 1 3. What happened to his notebooks after his

Read the passage carelully and answer deuth?
the questions that follow: 4. Why did he not eat non - vegetarian
Leonardo Da Vinei was borm in 1452, He food? 2
was ong of Italy's great painters. Some 5. (i) Find out from the passage the word
people think he had one ol the greatest which meuans : 2

minds that the world has ever known. He
was Interesled in so many things and
always wantad to find out about anything
new. We know ol some ol these (hings
that he learnad, by reading his notebooks.
In these he has drawn wonderful pictures
of all sorts of things and made notes about
them. Afler he died his nolebooks were
taken to many different countries and
some ol them were losl. Bul he has 1old
very little about himself.

We do know that he was a lonely person
becanse so few others wanted to know
aboul all these things al once. He was also
a gentle person. He would go to the
bazunar where they sold lindle birds in
cages. He would buy the birds when he
could, open the cages and let them ily
away. He only ate vegetables because he
did not like the idea ot killing any animals.

'A structure of metal bars for keeping
birds'.
(iiy  Give lrom the passage the word which
is opposite of : 'Found'
Reud the lollowing passage carelully and
answer the questions that follow:
Passage 2
Perhaps no animal on earth has enjoyed
the kind ol publicity received by the
(Giant Panda. Unknown to the western
world (1l as late as 1869, the Panda has
been familiar to the Chinese for over
4000 years. Al one Uime the animal
inhabited vast areas of South China but
today it (inds iwsell” restricted o small
areas of some parts of China. For many
yeurs the Panda was believed o belong 1o
the bear family. In fact, its closest living
relatives is nol a bear but the golden

Panda.
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The giant Panda adapts well to low
temperatures, so it does nol hibemate in
winter. It climb trees with amazing agility
and leeds on large quantities ol bamboo
shoots that grow abundantly in dense
lorests. Occasionally its diet may also
include fish, small mammals and birds. a
single cub is normally born 1w lemales
after a gestation period to five months;
the giani Panda normally lives 1o an age
of around 15 years. An interesting feature
is its soll Meshy wrist pad with which it
grasps bamboo stalks in the same way as
we use our thumb. Although it has been
protected in China for more than forty
years, the Giant Panda is an extremely
endangered animal.

For how long has the Panda been tamiliar
to the Chinase? 1
Where is the Panda lound today? |
If the Giant Panda was unable to adapt to
Tow lemperatures, what would happen o
it? 1
What does the giant Panda zat? 2
(i) Wrile oul lrom the passage the word
which is opposite to : 2
"TFamiliar”.

Write from the passage the word
which meuns:

(ii)

‘Spend winter in an inactive state',
Scction—B  {Writing)
You are Rahul living in Jaipur. Your
friend Arun has invited you to attend his
younger brother's birthday party. Wrile a
letter to him expressing your inability to
attend the tunction. You may touch upon
the following points : 5
) Your annual exams are al hand.
(ii) It is a long way to go to attend the
lunetion.

{iti)
{iv)

Your mother too is not keeping well.
Your lather mostly remains out ol
station.
(v) Send your good wishes.

OR
Write an application to the Headmaster of
your school requesting him Lo exempl
you from submitting the project by 15
Nov. 2000. Don'l (orget o mention the
reason.
Wrile a short paragraph in about 60 words
on any one of the following : 4
The Scene alL the Railway Plallorm

OR
An Ideal Student

Write a paragraph in about 75 words
using the visual aid shown in the piclure

below. 5

Section—C (Grammar)

14. Tl in the blanks with correct lvrm ol the

verbs given in the brackets : 8xla=4
(1) Malii cut her [linger, while
she............ vegetables. icut)
(1) Farmers................ ploughing with
pre mMonsoon rain. (start)
i) You ever............... 'war and
peace'? (read)
vy I went to bed after. I.............. my
work'. (linish)
(v) Thepolice ................ very strict in
luture. (be)
iviy T...... her since Monday. (Not see)
{viiy Listen! someone ... Lo

open the gate. (fry)
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18,

19,

Eak B

iviii) Please, ............
15.

the window. (open)
Join the iollowing sentences using the
relative pronoun/ adverb give in the
brackels : 2x144=3
{1) This is the road.

This road leads 1o Jaipur. {that)

(iiy Nulanda was a (amous universily.
Foreigners studied here. {where)
Chunge Lthe lollowing senlences inlo
passive voice : 2x1=2

(i) She is making iea.

(iiy  Whao can solve this questions?
By whom................

Rewrite the following sentences by

changing them into indirect speech 4x1=4

i1) Rekha said to Atul, "Can you help
me in my work"?
Rekha asked Aml..............

(iiy  Granny said to me, "Don'L cover your
face”.

Granny lorbade me........ ...

(i11) "Alas! He is no more", exclaimed
she.

She exclaimed with sorrow.. ...

(iv) Vimla said to Hari, "Did you write a
story™?

Vimla asked Hari.............

Fill in the blanks choosing suitable model

from the brackets : 2x|=2
{cun, could, may, must)

{i) His lungs have become very weak.
So, he give up
smoking.

(iiy He belonged to a poor family,
therelore, he ... nol buy a
car.

Scetion—D  (Text-Book)
Read the passage given below and answer

20.

the questions that follow :

There is violence belween husband, wile
and children. There 1is violence,
anlagonism, hale, cruelity, ugly criticism,
anger - all this is inherant in man, inherent
in each human being. It is inhereul in you,
and education is supposed to help you to
do beyond all that, not merely 1o pass an
examination and get a job. You have to
be educated so that you become a really
beautiful, healthy, sane, rational human
being, nol a brutal man with a very clever
brain who can argue and defend his
brutality.

(1) What is inherent in man? 1
(iiy What helps in muaking a man
rational? 1
What does a brutal man do? 1
Wrile the word Irom (he passage
which means 'by birth'. 1
Reuad the passage and answer the questions
that follow :

{iii)
{iv)

Al the village Khejadall where the
Bishnois passed the supreme test of fire,
there is one ancient Khejadi tree which
escaped that massacre. Two years ago,
the Bishnois planted 363 more Lrees
around it in memory of their 363 martyrs.
And these trees, being nurtured with love
as they are, are growing fast. Every year
there is a religious laic al this spol live
days before the full moon in the month of
Bhadrapada. It is an occasion which every
tree lover of India should witness at least
once in his lile time.

(1) Where did the Bishnois pass the
supreme tlest ol [ire? 1
For whom did Bishnois plant 363
more lrees? 1

(ii)

{ii1) When is a religious [air held at

Khejadali? 1
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(iv) Write from the passage the word
which means 'See'. |

. Answer any one of the following
gquestions in about 60 words : 1x3=3
What are the author's views about the old
and the new cullures? {On Violence)

OR
"Yes, it is wonderful to be British until
one comes Lo Britain”. Explain. {The
Betrayal of Faith)
Answer any one ol the lollowing
questions in about 30 - 40 words ; 1x3=3
I the aceused chose the door with the
lady, what happened? How did the people
react? (The Lady or The Tiger)

OR
What was the complaint of Babuli's
mother in her letter to him? (The Tribute)
Explain any one ol the (ollowing stanzag
with reference to the context :  Ix4=4
To laugh is to risk appearing the fool.
To weep is 1o risk appearing sentimental.
To reach out for another is to risk
improvement.

OR
The [riends who had lelt me
Came back every one,
And darkest advisers looked
Bright as the sun;
I need them no more, as they all
understand,

I thank thee, T trust thee, my good right
hand!

24,

26.

27.

28.

mm .

{iti)

Answer any two of the following

questions in aboul 30 - 40 words : 2x215=5

(1) What was the cause of quarrel

between the lily and the rose? {The

Lotus)

What wonder(ul evenl does happen

at the end of the poem? (An Elegy on

the Deuth ol a mad dog)

Why did the poet feel disappointed?

{My Good Right Hand)

Answer any one ol the lollowing

questions in about 80 words : Ix5=5

(1) Write a briel character skelch of
Corporal Turnbull. (The Man who
Knew Too Much)

(ii) Who bhrought the Australian kites?
What do you know about these kiles?
{High Maharaja)

Answer any one ol the lollowing

questions in about 34 - 40 words ;. [x3=3

(1) Why wus Samir worried aboul the
ache on his face? (Growing up Pains)

(i)

(iiy  Why were the dergyman and his wile
surprised? {Foot Prints Without Feet)
Answer any one of the following
questions in about 20 - 25 words: 1x2=2
(i) How did Dursun Agha earn his living?
{Feust of The Dead)
(i1) Who was Rosamond and where was
she walking? (The Purple jar)
Write a speech in about 80 words on the
"The importance ol trallic rules". [ x4=4
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Subject : English
Class : X (Tenth)

General Instructions :
{1}  Candidate must first write their Roll Nos. on the question paper.

Eak B

{2y All the questions are compulsory.

Model Practice Paper —IV

M.M.: 80

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

in continnity.
Section—A (Reading)
Read the following passage carefully and
answer the questions that [ollow :
Passage 1

Some people are lond ol chewing betels
with tobacco. They spit and spit frequently
all around showing no respect lor public
property. They forget that they have paid
lor journey and not for spoiling the train
bus. They throw all rubbish and leftovers
wherever they so desire. Our public
transport, out roads and streets, our public
places and buildings are seen littered with
all sorts of stinking refuse that tells upon
our health and vigour. Inspite of the
statutory warning "Smoking is injurious
o health™ we do nol notice any slump in
the sale of cigarettes or bidis.

How do people not show respect lor
public property? 1
What do people (orget while travelling? |
What things do people throw all over

public places, streets eic? l
What warning has been written on
cigarelles or bidis? |
What some people are {ond ol? |

Write the word from the passage which

means "uneaten lood” and 'garbage’. 2
Passage - 2

Read the [bllowing pussage carelully and

9.
10.
11.

12,

13.

angwer Lthe guestions that Tollow:

"Pen is mightier than the sword” is very
ollen kepl the subject lTor debates in many
educational institutions. In reality, the
muscle power is stronger than the brain
power. And it has been so0 since acon.
Generally those with muscle power are
uncivilized. They consider public
property their own. Making a small
beginning they grab whatever maximum
property they can in course ol time, thus
snatching the rights of civilized and law -
abiding citizens. The [ootpaths on both
sides of the road become their property
where they may sleep, install their shops
or make their dwelling.

What do you mean by "Pen is mightier
than the sword"? |
Which two ypes ol power have been
mentionad here? |
Whao snaich the rights ol civilized and law
- abiding citizens? |
How such people use ithe lvolpaths? |
Pick oul trom the passage the word which
means 'a large period of time' and 'area or

space on both sides ol the word'. 2
Pick out from the passage the word which
is opposite ol 'uncibilised'. |

Section - B (Writing)
You are Rukesh living in Jaipur. Your
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friend Anil has invited you to attend his
younger brother's birthday party. Wrile a
letter to him expressing your inability to
attend the tunction. You may touch upon
the following points : 5
) Your annual exams are al hand.
(ii) It is a long way to go to attend the
function.
(1ii)
(iv)

Your mother too is not keeping well.
Your father mostly remains out of
station.
(v) Send your good wishes.
OR
You are Vikram, school captain of the
lootball leam ol'G.8.8.S, Alwar, Rajasthan.
Due to some injury you are not able to
play [or the stale coaching camp. Send e
- mail to your Principal requesting him to
give you relaxation rom the camp. The ¢
- mail address is principalgsss.alwar@
yahoo.com.
14. Write a short paragraph in about 60 - 80
words on "Importance ol Cleanliness”.4
OR
Write a short paragraph in about o0 - 80
words on "Pollution”.
15, Write a paragraph in about 75 words on
the given visual aid. 5

Scetion—C

{tzrammar)
16. Fill in the blanks with the correct forms of

the verbs given in the brackets : 4x1=4

{1) Tomorrow is Friday. I...............
(20) W city market.

(teach) English now.

i) A man................. {20) to the
lemple yesterday.
{iv The train............... (leave) the

station betore I reached thers.
17. Join the following sentences using the
relative pronoun/ adverh. Ix 144=3
(i) The judge has reigned. He was
popular for quick judgements. {(Who)
(1) The dress was attractive. I saw the
dress in the showroom. (which)
18. Change the following sentences into
passive voice : 2x1=2
(1) T wrile a letter.
(iiy  Police will catch the thiel.
19. Rewrile the (ollowing sentences by
changing them into indirect speech: 4x1=4
(i) Sobha said, "He is intelligent".
(i1) You said to me, "I went to school
yesterday ",
{(ii1) Sita said 1o Hari, "Are you 4 student?”
{ivy He said 1o me, "May god bless you!™
20. Fill in the blanks choosing snitable modals

Irom brackets : Ix1=2
(can, may, could, must)

(1) I ........ lilt this heavy box ol 25 Kg.

(i Soldiers...........[o1low the

commands of their officer.
Section—D (Text Book)
21. Read the passage given below and answer
the questions that [ollow:
Al the village Khejadall where the
Bishnois passed the supreme test of fire,
there is one ancient Khejadi tree which
escaped that massacre. Two years ago,
the Bishnois planted 363 more Lrees
around it in memory of their 363 martyrs.
And these trees, being nurtured with love
as they are, are growing fast. Every year
there is a religious laic al this spol live
days before the full moon in the month of
Bhadrapada. It is an occasion which every
tree lover ol India should witmess ai Teast

once in his lifetime.
HaAT-X
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{1) Where did the Bishnois pass the

supreme Lest ol lire? |
(i1) For whom did Bishnois plant 363
more Lrees? 1
(iii)) When is a religions fair held at
Khejadali? l
(iv) Write from the passage the word
which means 'See'. 1

22. Read the passage given below and answer
the questions give below :
When the king was interested in people
and their crimes, he would dictate that
their late should be decided in the arena.
This king knew no traditions rom other
kingdoms. His only allegiance was to
himsell’ and his own (ancies. This lancy,
the change fate decision in the arena,
came aboul because ol his romantic, yel
barbaric, idealism.
i) What did the king dictate when he
was interested in people and their

crimes? |
(ii) Whom did the king follow? 1
(111) From what did his idea of a chance -
fate decision come? 1
(iv) Write the word from the passage
which meuans (aith. |

23, Answer any one of the following question
in about 60 waords : 1x3=3
{i) What did the gentleman do at his

birthday? (A Man's True Son)

(ii) What is the nature of anti - Negro
tendency in America? (The Betrayal
of Faith)

24, Answer any one ol the lollowing
questions in about 30 - 40 words ; 1x3=3
What are the characteristics ol inward
violence? {On Violence)

OR

What kind ol wees and animals were

found in the desert ol Marwar? (The Tale

of the Bishnois)

Eak B

25. Explain any one of the following stanzas
with reierence o the context ©  Ix4=4

To laugh is to risk appearing the fool.

To weep 18 Lo risk appearing sentimental.

To reach out for another s o risk

involvement.

OR

A kind and gentle heart he had,

To comlort Irends and loes;

The naked every day he clad,

When he put on his clothes.

26. Answer any lwo ol the lollowing
questions in about 30 - 40 words ; 2x214=5

(1) What did the neighbours say about
the dog? (An Elegy on the Death of
a mad dog)

(ii) Who were the two rivals for 'High
honow'? (The Lotus)

{ii1) Why did the poet begin to complain?
{My Good Right Hand)

27. Answer any one of the following
questions in ahoul 80 words : 1x5=5

(1) Draw a character sketch of Anil?
{The Thiels Story)

(iiy Describe the changes that lake place
in the author as a resull ol growing
up. {Growing up Pains)

28. Answer any one of the following
questions in about 30 - 40 words ; Ix3=3

(1) Write about Bholi's nature? (Bholi)

(iiy  What did the old man say at the end?
{Old Man at the Bridge)

29, Answer any one ol the lollowing
questions in about 20 - 25 words ; 1x2=2

(1) What did the paragraph ol the
newspaper describe about? {A Hero)

(i’ What are (he means ol noise
pollution? {What is Amiss with us)

30. Write a paragraph in about 80 words on

"Role and importance of driving licence".

Ix4=4

mm .
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Time : 3% Hrs.
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Subject : English
Class : X (Tenth)

General Instructions :

Model Practice Paper —V

M.M.: 80

{1}  Candidate must first write their Roll Nos. on the question paper.

{2y All the questions are compulsory.

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

in confinnity.

Section—A (Reading)
Read the following passage carefully and
answer the questions that [ollow :

Passage 1

Read the lollowing passage cavelully and
answer the questions given below:
We all travel by public transport, rain or
bus and have had many bitter and sad
experience. Orderly queune system at the
time of either purchasing the tickets or
bourding the train/ bus is ravely tollowed.
Everyone in his self interest flouts the
genuine rights ol others. Those who are
already occupying a seat would very
reluctanily permit others 1o sit even on the
neighbouring vacant seat. When they do
s0 they grab aboul hall ol that vacanl seal
also. The thought of giving help to other
needy ones rarely sirs them.
Some people are ford of chewing betels
with wbacco. They spil and spil requently
all around showing no respect for public
property. They lorgel that they have paid
for journey and not for spoiling the train/
bus. They throw ull rubbish and leliovers
wherever they so desire. Our public
transpart, our roads and streets, our public
places and buildings are seen littered with
all sorts ol stinking reluse that tells upon
our health and vigour.

wd

In spite ol the slatutory warming "Smoking
is injurious to health”. We do not notice
any slump in the sale ol cigareties or
bidis. The pity is the smokers in their own
enjoyment do not think ol the people
around  them.  Sometimes the
surroundings become unlit Cor breathing.
Passive smoking causes more harm.

Which hilter experience do we have while

travelling by public transport? 1
What do the people chewing belels and
tobacco do? |
What are our public places and buildings
littered with? 2
What statutory warning is wrilien on
cigarette or bidi packs? |

Find from the passage the word which
means: "Empty or unoccupied". 1
Read the passage and answer the
following quesiions:

In the north - west of undivided Indian,
near, Peshawar, there wus the ancient
and famous university of Taxila. This
universily was parlicularly noted lor
science, especially medicine, and the arts,
and people wenl 1o it Tom distant parts of
India. The Jataka stories are full of
instances ol sons ol nobels and Brahming
travelling unattended and unarmed, to
Taxila o be educated. Probably students
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1.

ERk B

came also from central Asia and
Alghanistan as it was conveniently
situated. It was considered an honour and
distinction 1o be a graduate Irom Taxila
Physicians who had studied in the school
ol medicine were highly thought ol and,
it is related that whenever Buddha telt
unwell, his admirers brought o him a
famous physician who had graduated
rom Taxila.

Taxila was thus a pre - Buddhist university.
During the Buddhist period it became
also a centre of Buddhist scholarship and

attracted Buddhist students (rom all over

India and across the border.
What was the university ol Tuxila (amous

for? L
What do we leawn aboul the university
from the Jataka stories? L
How can you say that physicians from
Taxila were highly thought of? 2
What happened during the Buddhist
period? 2

{i) Find out from the passage the word
which means: "An instilution [or
highest level of education for degree
and research.
Find from the passage the opposite
ol 'Tmply'.

Section - B (Writing)
You are Prakash Jain. Write a letter 1o the
editor of a local newspaper about the
Irequent breakdown ol the water supply
in your locality. 5

OR

You are Sarita. Wrile a lormal e - mail
letter your Principal at principalgsss@
gmail.com requesting him/ her o arrange
an on - line counseling on "How to face
board examinationg™.

(ii)

12,

13.

14,

‘Write a paragraph in about 60 words with
the help of the given outlines:

To save water is the most essential thing
ol today. Water............ mmportant lor
all living beings. No life without
ocean waler...........

consumable......... should save.........
riin waler............ build rain waler
harvesting system in every
building.................... clean the rivers,
ponds, wells, tanks before rainy
SCA80N ... ..., Naol wisLe
Watel..oo oo, It is very precious. 4
OR

Write a paragraph on "Trees : The (Green
Gold ol a Country”. In aboul 60 words.
Wrile a short paragraph in about 75 words

on the scene shown in the picture. 5
Picture of 'Need ol Rain Waler
Harvesting'.

OR
Wrile a paragraph in about 75 words on
"Good Health Habits".
Scetion - C (Grammar)
Fill in the blanks with the correct forms of
verbs given in brackels. 4x1=4
(1) Look! A man............. irun) after a
bus.
(iy Mohan..................
every week.

{call) on me
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19,
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(i) Man.............e.

(iv) India............

(reach) the mars

by the end ol this century.

get) freedom in 1947,

Join the iollowing sentences using the

relative pronouns/ adverbs given in

brackets. 2x14%=3

1) God helps those. They help
themselves. (Wha)

(iiy This is the village. Gverybody is
literate here. (Wherza)

Chunge Lthe lollowing senlences inlo

passive voice. 2x1=2

(i) People underst:md Hindi all over the
country.

(ii) Shut all the gates.

Let all the gates............
Rewrite the lollowing senlences inlo
indirect speech : 2x2=4
(i) The doctor said 1o the patient, "Take
light fnod".
The doclor
patient........o.ooeei.
Anil said o me, "Cuan you cook?"

advised the

(i
Anil asked me................

Fill in the blanks choosing suitable modals

from brackets : 2x|=2
(should, must, can)

) You are very week. You............_..
take nutritious food.

may,

(iiy There are no clouds in the sky so
rain today.
Scetion - D {Text Book)

Read the following passage and answer
the questions given below :

Begin, theretore your day with prayer
and make it so souliul thal it may remain
with you until the evening. Close the day
with prayer, so that you may have a

20.

21.

22,

peaceful night free from dreams and
nighimares. Do not worry aboui the lorm
of prayer. Let it be in any form, it should
be such ag can pul us in communion with
the divine.

(1) What is Gandhiji's advice 1o us? 1
(1) What is the benefit of prayer done
belore going o bed? |
What is more important than the form
ol the prayer? 1

{iii)
{ivy Wrile the word lrom the passage
which means: Horrible dreams'. |
Read the passage and answer the
following questions:

There wus a greal least being held in the
house of a certain gentleman. It was his
birthday, and many ol his relations had
come from far and near to great him and
bring him gilis. He entertained his guests.
It was his duty to look after them well. In
the evening he gave a greal feast and the
gifts which the guests brought were placed
in the centre ol the hall so that all might
see them.

(1) What was going on in the house ol a

gentleman? 1
(iiy  Who brought the gilis? |
{ii1) Why were the gifts placed in the
centre ol the hall? 1
{ivy Wrile lrom the passage the word

which means, 'a grand banquet traat’.
Answer any one ol the lollowing two
questions in about 60 words ; Ix3=3
How can you keep public places clean?
{What is Amiss with us)

OR

When does life become a terrible
business? {On violence)
Answer any one of the following
questions in about 30 - 40 words :1x3=3
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How does think - tank describe the earth?
(The Book that Saved the Barth)
OR
How does the picture o Humpty Dumpty
look like? ( The Book that Saved the Earth)
Explain any one ol the (ollowing stanzag
with reference to context : Ix4=4
Butrisk must be taken, because the greatest
hazard
In life is to risk nothing
The person who risks nothing, does
nothing, has nothing
Is nathing, and becomes nothing
OR

"Let them go”. I exclaimed Tve a (riend
at my sices,
To lift me, and aid me, whatever betide,
To trust 1o the world is o build on the
sahd;
I'll trusi but in heaven and my good right
hand.
Answer any Lwo ol the lollowing
questions in about 30 - 40 words ; 2V4x2=>5
(i) What is the greatest hazard in lile?

(Risks)
(iiy  What was the resull ol the poet's hard

work? (My Good Right Hand)

mm .

26.

27.

28.

{ii1) ‘What is an elegy? (An Elegy on the
death of a mad dog)
Answer anyone of the following questions

in about 80 words : 5
How did Anil make his living? (The
Thiel’s Story)

OR
What was the role of the school teacher in
Bholi's liie? {Bholi)
Answer any one of the following
questions in about 30 - 40 words: 3
What were the belongings of Dursun
Agha? {Feast of the Dead)

OR
What do you think aboul [reedom in
teenage? (Growing up Pains)
Answer any one ol the lollowing
questions in about 20 - 25 words: 2
How did the scientist become invisible?
{Foolprints without Feel)

OR
What was the wish of Ultanka's mistress?
{Uttank's Guiudakshina)
Wrile the impaortance ol Lane Discipline.

OR

Meniion the importance ol trallic rules.
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Time : 3% Hrs.

Subject : Social Science
Class : X (Tenth)

General Instructions :
{1}  Candidate must first write their Roll Nos. on the question paper.

6.

9.

Eak B

{2y All the questions are compulsory.

Model Practice Paper —1

M.M.: 80

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

in confinnity.

What was the work ol an oflicer named

‘Samaharta'? 1
Who was the ruler to implement the policy
of "Iron and Blood"? |

From which Greek words is the term
‘Democracy’ Tormed and whal is its
common and accepted meaning? |
Wrile the name ol the super highway
which joins the four major metro cities of
India with one another. |
Mention any three circumstances in which
the membership ol a member ol legislalive
assembly comes to an end. 2
Which projects ol India are run with the
help of Central and State Governments? 2
What 18 the meaning ol Cash Crops?
Mention the conditions required for the
growth ol maize. 1+1=2
What is the meaning ol minerals? Enlist
the iron ores found in India. l+1=2
When and where was (he [lirst collon
textile mill established in India? Enlist
the districts ol collon lextile mills in

Rajasthan. 1+1=2
Suggesl some measures 1o control
population increase rate. 2
What 18 Prime Minister's Rural Ruoads
Scheme? 2
The Supreme Court is also called "The
Court of Record”. Why? 2

13.

14.

16.

17.

18.
19,

20.

21.

23.

How flar do the weather conditions or
the eftects of alcohol cause street violence
or rage? £
Mention the types of sanitation. 2
Wrile the deflinition o’ National Income.
Why should Natienal Income be
calculated? Give any three reasons. 1+2=3
Which are the challenges (aced by India
economy? Explain the fiscal measures to
control inilation. 115+145=3
(Give a description of administration and
society ol Maurya period. 4
(Give an introduction of Guru Nanak Dev
and mention the major leachings ol
Sikhism. 2+2=4
‘When and by whom was young Ttaly
formed? Deseribe the various phases ol
unification of Italy. 1+3=4
What do you mean by democratic form of
government? Examine it critically. 2+2=4
What is liberalization? Explain the
economic reforms adopted under the new
economic palicy. [+3=4
What is currency? Describe variouns
phases of development of currency. 1+3=4
Wrile a commenl on: 242=4
(i) Legzal services authority

(ii) Right of information
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24. Describe the formation, jurisdiction and

Time : 3% Hrs.

powers ol the Supreme Courl. 5
OR

Describe the process ol election ol the
President of India in detail.

Pui the (ollowing on the map of India. 5
{1) Hirakund Duam

(i1) Maharashtra
(i) Jhariya
(iv)
(v)

Jamshedpur
Sikkim

mm .

26.

27.

Deascribe the first India’s freadom struggle

ol 1857. é
OR

Mention the peasant movements ol

Rajasthan.

What are the gualilications required w

become a governor? Evaluate the

appointment and powers ol the Stale

Council of Governor. 6
OR

Elucidate the formation and jurisdiclion

of the High Court.

Subject : Social Science
Class : X (Tenth)

General Instructions :

6.

Eak B

(1)

{2y All the questions are compulsory.

3)

{4)

in confinnity.

Name the lake built by the Mauryas which
was renovaled by Skandagupta. 1
Which Sikh Gurn built the "Akal
Takht'? |
Which are the two major forms of
demaocratic government system? l
Mention the full form of e-mail. 1
Clarily the importance ol 'Judicial
review'? 2
Describe brielly the lunciions ol the
speaker of Legislative assembly. 2
Throw light on Bisalpur project. 2

What does irrigaied agriculture mean?
Highlight the shifting agriculture.
La+114=2

Model Practice Paper —2

9.
10.

11.

13.

14.

15.

M.M.: 80

Candidate must first write their Roll Nos. on the question paper.

Write the answer tn each question in the given answer book only.
For question having more than one part the answers to those parts are to he written tngether

In which lorms have Indian minerals
been categorized? 2
Throw light on the development ol Cement
Industry in Rajasthan. 2
What is population increase rate? From
which decade did population ol India
begin to decline and why? Vat+114=2
What are the advantages ol pipeline
transport? 2
What does 'Bus Lane' meun and why are
they separated? 2
What are (he objectives ol solid waste
management? 2
Mention the names ol sectors ol economy.
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16,

17.

19,

20.

21.

22,

Describe the increasing importance of 24,

tertiary sector in India. [Ya+11a=3
Which type of unemployment is largely
lound in agriculture sector? Describe the
economic causes of poverty in India.
1+2=3
Describe the Mahajandpadas and give an = 2
introduction ol the major Janapadas ol

Rajasthan. 4
Write in detail about the Delhi
Sultanate. 4

When was the custom duty organization
Zollverein established? Elucidale the
contribution of Bismark in the vnification
ol Germany. 1+3=4
List the major theories and concepts of
democracy. Oul ol these, give briel
introduction of liberal, Marxist and
socialistic theories ol democracy.1+3=4
What is human wealth? Why is skill
development importani? What steps have

26.

been taken by the government for skill 27,

development? 1+ 1+2=4
Who controls the institutional financial
sources in India? Dillerentiale belween
institutional and instimtional sources of
credil. 1+3=4
Write a comment on ; 2+2=4
1) Consumer Acl.

(iiy Law Lo stop copying.

mm .

[y

‘Who presides upon the meeting of council
ol ministers? Deseribe the tormation and
powers of the Council of Ministers. 3
OR

Elucidate the powers and functions of the
president in normal tme.

Put the following on the map of India.5
(1) Bhankra Dam

(iiy  Ultarpradesh
{11) Bokaro
{ivy Vishakhapainam

(v) Goa

Wrile a comment on : 242+42=06
(1) TFirst English Maratha contlict.

(1) Champaran Peasant Movemant.
(i) Bijolia Peasant Movement.

OR

(1) Simon Commission

(ii) Indian National Congress
{i1) Govind Guru

Meniion the major ollicers ol the stale
legislative assembly and legislative
council. Bvaluale the (ormation, powers
and functions of the legislative assembly.

OR
Evaluate the role of Chief Minister in
State administration. o
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Time : 3% Hrs.

Subject : Social Science
Class : X (Tenth)

General Instructions :
{1}  Candidate must first write their Roll Nos. on the question paper.

Eak B

{2y All the questions are compulsory.

Model Practice Paper —3

M.M.: 80

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

in confinnity.

Wrile the names ol literary creadons ol

Harshavardhana. 1
Who was the ruler who implemented the
policy of "Iron and Blood™? |

Which words of the Greek languages are
combined in the world 'Democracy' and
what 1s the popular and acceptable
meuning ol iL? |
What is meant by "Water Management'? |
What are luel minerals in India? |
Where is note - printing press in India? 1
Alter how muny yewrs ol interval is census
conducted in India.l

Name the cheapest means of transport? 1
Deline National Income. |
What are the challenges that come before
the Indian Beonomy? l
Explain briefly the functions of the
speaker ol an assembly. 2
Why there is a need of water self
reliance? 2
Classify the agriculture crops in India on

the basis ol their consumplion. 2
Describe the developmeni ol Collon
Textile industry in India. 2
Mention the advantages ol pipeline
transport. 2
Explain the concepl ol economic

Progress.

17.
18.
19,

20.

21.

What is the diflerence between absolule

and relative poverty. 2
What are the measures to reduce the road
accidents? 2

Which measures have been adopted for
solid wasie managemenl. g
Describe the major rulers of Gupta
Dynasty and write a short note on cultural

achievements during this period. 4
Wrile an essay on Lthe Baltlle of
Haldighati. 4

Describe various inventions made in
different sectors during the Industrial
Revolution. 4
Explain the difference between direct and
indirect democracy. 4
Why is Skill Development important what
steps have been taken by the government
for skill development. 4
‘What is the different between traditional
and non - traditional linancial sources.4
What measures have been taken by the
government lor legal awareness? 4
Describe the public movements
conducted between 1919 AD and 1949
AD. 6
OR
What are the contribution of
revolutionaries in the lreedom struggle ol

Bharat?
HaAT-X
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28.

Time : 314 Hrs.

Describe the formation, jurisdiction and

powers ol Supreme Court. )
OR

Explain the process ol election lor the

President of India.

Describe the [ormation and power ol

council of Ministers 1n a state. 6
OR

a0

30.

{ii1)
{1v)

Thiscuss the role of Chief Minister in the
stale administration.

Mark the respective places in the given
map. 5
(1) Madhya Pradesh

(iiy Chennai
Assam
Ahemdabad

Orissa

(v)

Subject : Social Science
Class : X (Tenth)

General Instructions :
(1)  Candidate most first write their Roll Nos, on the question paper.

wd

Eak B

{2)  Allthe questions arc compulsory.

Model Practice Paper —4

M.M.: 80

3)  Write the answer to cach question in the given answer book only.
{4)  For question having more than one part the answers to those parts are to be written together

in continuity.
3)  QuestionNo. Marks per question Word Limit of Answer
1-10 1 20 Words
11-19 2 40 Words
20-26 4 100 Words
27,29 6 150 Words
28 7 150 Words

5)  Q.No. 30is related to map work carrying 5 marks.

Why is Mahabalipuram ol Pallav era
famous, 1
Wrile the name ol stll alive Tongest road
built by Shershah. 1
"Demaocracy is ol the people tor the people
by the people" which scholar give this
statement? l
Which nearest port will you select for
product export [rom Rajasthan? |
Which institution calculate the National
income in India? 1

6.

~1

jr 27

10,
11.

Whao is the author ol "Planned Eeonomy

of India"? |
Wrile the name ol present chairman ol
NITT Aayog? |
What is Inilation. l
Who present the hyphothesis of vicious
cyele ol poverly? l

What is disguised Unemployment? |
BExplain the iwo [inancial power's ol the
state Assembly. 2
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2.

13.

Write four methods of water conservation
in Rajasthun. 2
How many parts of India agriculture are
distributed on the basis ol season? Write

the name with an example. 2
What is Power Minerals? Wrile the name
of petroleum ficlds in India? 2

Which states ol Indian will you choose
for the establishment of Cotton Textiles

Industry? 2
What is Population growth? Wrile its two
reasons. 2
Why is water (ransporl provides the
cheapest traffic to any country? 2
Give lour suggestions w prevent road
accident. 2

As a municipal c¢hairman, mention any
four measures you can take to settle solid
wisle. 2
Write the concept of Ashoka's Dhamm. 4
Describe in briel aboul the struggle of
Maharana Pratap with Mughal. 4
Why did Industrial revolution first start in
England only? Write any [our reasons.4
Which conditions are essential for the
successes ol democracy? (Any lour) 4

"Indian economy is a developing

economy” give lour argument in Cavour

of this statement, 4

aoa3

27.

28.

29,

{iii)
{iv)

OR
Indian economy is an underdeveloped
economy give four arguments in favour
ol the stalement
Mention any four important functions of
money. 4
Suggest any four measures for legal
awareness. 4
Enlist the event ol Indian nationalist
movement between 1919 to 1947, 6

OR
Focus on trible and peasant movement of
20% century Rajasthan's.
Which are the hounses of Parliament?
Describe the powers ol Parliamenl.

OR
Describe the organization ol Loksabha
and powers of its President.

Which powers will you use as a state

Governor? 6
OR

Which powers will you use as a Chiel

Ministar?

Murk the [ollowing in the given outline

map of India. 3

(1) Culculla

(ii) Chambal valley project

Barmer

Salem

(v) Delhi
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Time : 3% Hrs.

Subject : Social Science
Class : X (Tenth)

General Instructions :
{1}  Candidate must first write their Roll Nos. on the question paper.

wd

o

12.

13.

Eak B

{2y All the questions are compulsory.

Model Practice Paper —5

M.M.: 80

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

in confinnity.
{3}y  QmestionNo. Marks per question Word Limit of Answer
1-10 1 20 Words
L1-19 2 40 Words
20-26 4 10k Words
27, 29 6 L50 Words
28 7 L30 Words

{3y Q.No. 3isrelated to map work carrying 3 marks.

Why Rummandei inscription of Ashoka
is imporlant lfor us? 1
What is the Jantar Mantar of Jaipur? 1
Name the two forms ol the representalive

democracy in present era. 1
Wrile any Lwo benelits ol mternet. |
Define the National Income. 1
Mention the period ol linancial year in
India. L
Which activities are included in primary
seclor? |

What is the meaning of general price
level? 1
What is unemployment? 1
When was the [lirsl elforl o measure
poverty in India. 1
Ay u conscious citizen. What (resdom
would you except from the high court?
Mention any lwo. 2
What as TANKA™ What is the name of
scheme under which Tanka construction
were done? 2
What are commercial crops? Write any

14.

19.

20.

21.

four examples of commercial crops. 2
Whalt is a metallic minerals called? Explain

with example. 2
Wrile any two ellects ol industrial
pollution in India. 2
What do you undersiand by Birth rate and
Death rate? 2

BExplain the pipeline transport in India.2
‘What are the things you will keep in mind
while walking on the road. 2
What do you understand by solid waste
management programme? 2
II' you would have been in the place of
Hemir Dev Chauhan, what policy you
might have adopted lor the rebels ol

Alauddin Khilki and why? 4
Bvaluate the central administration ol the
Mauryan period. 4

Mention the role ol Marrini in the
unification of Italy. 4
According 1o your view whul condition
are essential for 'social democracy™
Explain. 4
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24, "Indian economy is

a developing
economy”. Explain any lour arguments

in favour of this statament. 4
OR

Explain any four advantages of

Globalization. 4

. What is money? Clarify any three function

ol money. 4

As a conscious cilizen. Write any [our

causes of consumer exploitation. 4

Bvaluate the contribution ol Shyamji

Krishma Verma and Vinayak Damodar

Savarkar in  the Indian natlional

movement. 0
OR

Write short notes on the following:

() Sunthal uprising

(i) Jallianwala Bagh Massacre

(ii1) Simon commission

mm .

28.

29.

Describe the functions and powers of the
parliament. 7
OR
Describe the executive and legislative
powers of the president.
BExplain the powers of the slate legislative
council. O
OR
Explain the jurisdiction and powers ol the
High court.
Mike the [ollowing in the given outline
map of India.
(1) Khetari
(ii) Delhi
(i) Jamshedpur
{iv)
(v)

Paradeep
Hirakud Project
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19.

20.
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eI
() THRIGH o SR S S el |1
ferta |

14, (31) ifae us Ter e iRy | sfqe fofig |

() FRSHICETF TG TR ? 2+1=3
15. foeke gfte v & o o ome € 25 A

o ST # 7 3
16. (31) 9F &9 T4 % 7 fafam) 1+2=3
99 %

18.
9.
20.

21,

22.

23.

24.

25,

(&) S e o1 el stafere
T A fefEm |

(31) STILHUI ! VB! BIHTH FTATHE ?

(F) Qe =t TR T H AR o
A | 2+1=3

AR fhd FEd € | e TR o Teh STasivi

=1 AW e | 2+1=3

e grfan & fo fra-foa amai =1 w1

= Ee | (9 fa) 3
T, IR TR A e A e o s
B3 7 3

(1) g 3 SR TS 2 B T F A
§7?

(F1) arEAfTER 10 % B WM T w9 St
EREIC R R

LUug—>

(&) HUEe 7 3T WA & o A 3 i
g &l 7

(F) oo How PR R E 2 2+2=4

(31) 3531 g2 91 W TR =gH W w7y
AR RITATRETSIAE 7 1+1Vo+1Ya—4

(91) 9 s STTHEE | S a5 |

(e1) 1 o wiady Rl Fea ¥ 2

(&) weared! & <= 1= foma o s o o
HWE? 1+3=4

() |aE et oo 9 e A # 7
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26.

27.

28.

29.

(@) TSifeEn W el % AW e |
(9) St g1 form o e AvaRvg § e
T E ? 142+1=4
(1) UYUIeH | AETAF T 7 2+1+1=4
(o) TR T T T R & 7
(@) gfitat o $7 =t 2 A 3% T et
St Tafereman & fafa= @ wmsmsd | 4
Edr
(31) uRd % S fafaya a9 e & 9
ferfam)
(o) i fafgua g T FE?7 2+2=4
S B g fmtor =5t wiwEen #t fagemm e
& FFR] Tl T FARE 3+2=5
7T
(37) AFE y999 95 S A o RS | 2+3=5
(9) HFE e o5 § RS a7 greui el
= TE % 7
(31) d =ATh A1 [ SR qeall 1 74 7 HT
%7 1+1+2+1=5

mm .

30.

(F) 163 =1 3% e w A e e g 7

(&) Sreed % W] W= fagid forfa |

(T) TR FT TENAT I T FEA E

HAAT

(1) YUEh o el bl ok [ T0Th BT8R
X ST T 2

(&) YUSHh o STTE SROT & T[0T TS SIS1 <h
TS ey 4+1=5

(1) e Terge s fe A 300 et 3= wWugH
T ¥ 1 afE e 9 sud W@ 'me
g 1000 T, &1 & foawe gr fepan
T TS fere T e o e

(&) =l ol 472 GHATAS: TR - TR el | g
71 4+1=5

HAAT

(&) afs T axg AT S TN s ar
o T TSt Sl feRel BT 2

(o) forega oIt @ © 2 AR =/ A &1 @l
Torgawfe & ST = TS =
€ 7 ST TR WEIEA | 142+42=5



https://www.print-driver.com/?demolabel-en

. s

Time : 3% Hrs.

Subject : Science
Class : X (Tenth)

General Instructions :
{1}  Candidate must first write their Roll Nos. on the question paper.

6.

Eak B

{2y All the questions are compulsory.

Model Practice Paper —1

M.M.: 80

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

is continnity.

Scetion—A
Write the name of the instrument which is

used in measuring blood pressure. 1
Where is glomerulus lound? |
Write the general formula of Alkene and
Alkyne. l
Give the full form of IUPAC., |
Which monomer molecules are used
form ‘Orlon"? 1
Give the ITUPAC name and siructural
formula of C.H ,. 1
Wrile the lTormula ol magnification. 1
What is cataract? l

Write the definition of electric current? |
Wrile the name ol the pulse which is very

rich in protein. 1
Wrile the name of two endangered
species. 1

Scetion—B
What do you mean by balance diet and
malnutritivn? 3
{1) Which scientist classilied blowd in w
its different groups.
[nlist the precautions laken during
blood transfusion. 1+2=3
(1) Wrile the diiTerence between physical

and chemical change.

(i)

(i)

Which Lype ol reaction is combustion
of coal? 2+1=3

15.

16.

17.

18.

19,
20.

21.

What do you understand by myopia?
How is 1t corrected? 3
(i) Wrile the names ol greenhouse gases.
(iiy Dillerentiate between biodegradable
and non - biodegradable waste. 1+2=3
(i) What are the advantages ol
weathering forces in agricultura?
(iiy  Draw the diagram ol internal sirueture
of the earth. 2+1=3
What are vesligial structure? Write the
name of ong vestigial structure of human
body? 24+1=3

‘What things must be rememberad for safe

driving? (Three point) 3
Under the guidance of Dr. Bhabha, whic
three reactors were eslablished? 3

(i) Which place is a living place [or
humans outside the earth?

(iiy Dwring the launch ol pioneer - 10,

for what reason were the scientist

scared? 14+2=3

Section—C

(i) Why did Mendel choose pea plant
for his experiments?

(1Y What is test cross? 242=4

(i) Which compound is used in plaster
on broken bones?

(iiy  What is the dilTerence between soap

and detergent? L+ 1V2+]114=4
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24, (i) Define one ohm resistance.
(iy  What is the dilierence between A.C.
genarator and D.C generator? [+3=4
25, () What do you mean by sustainable
development?

(iiy Write the name ol components of

petroleum.

Wild cock is found in which wildlife

suncluary? [+2+1=4

26. (1) Why is animal husbandry necessary?
(iiy  Which is the state [ower ol Rajasthan?

(iii)

(iii)

Write the names of diseases which
oceur in hens.
27. Explain various levels of biodiversity. 4
OR
) Write the names ol biodiversity
hotspots of India.
(iiy  What do you meun by biodiversity
hotspot? 2+2=4
Scetion—D
28. Describe the process of urine formation
in humans. Draw the structure of kidney.
3+2=5
OR
{i) Draw the diagram of
respiralory  syslem.

human

(iiy  What is the importance of Tungs and

29. (i) Whatis the another name of d - block
and I - block elements?
(ii) What name was given to members of
18% group?

{11) Write the atomic structure theory of
Dalton.
{1v) Name the orbits of Bohr. L+1+2+1=5

OR
(i) On the basis ol which properties,
Mendeleef kept the elements in
periadic order?
(11) List the properties and draw backs of
Mundelee’s periodic Lable.  1+4=3
A lift attains a height of 300 meter in
5 minutes. I the mass of lelt and
luggage is 1000 kg then calculate the
work done and power ol the lell.
(i1) Write the various form in which
energy is dissipated. 4+1=5
OR
(1) If the velocity of a body becomes
twice, whal happens o ils kinetic
enargy?

30. (i)

(iiy  What is electric power? How is the
electrical energy which comes to our
homes is measured? Explain with
example. L+2+42=5

respiratory muscle in  human
respiralory  system? 3+2=5
aa3a
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Time : 3% Hrs.

Subject : Science
Class : X (Tenth)

General Instructions :

L3 b —

A

16,

Eak B

(1)
(2}
3)
{4)

All the ¢guestions are compulsory.

is continnity.

Scetion—A
What is pericardium? |
Name the various parts of stomach. 1

What is Red Data Book? 1
What do vyou mean by wild life
conservalion. |

Write down scientific names of two
medicinal planits.
What is the scientific name of state tree of

Rujasthan. |
Write the scientific names of two advanced
varieties ol wheal. 1
What is social lorestry? |
What is the meaning of endangered
species? |
. What is the Snell's law? 1
What is cataract? 1

Section—B
(i) What is catalysl? [+2=3
iy Write down the properties ol catalysL.

. Describe the various types of "Waste".3

Deseribe the internal structure ol earth
with help of diagram. 3
(i) What is Big - Bang theory?

(ii) How Big - Bang theory is differ from
Indian theory. [+2=3
What do you mean by constructive
lorces?

()

Model Practice Paper —2

18.
19,

20.

21.

23.

24.

M.M.: 80

Candidate must first write their Roll Nos. on the question paper.

Write the answer tn each question in the given answer book only.
For question having more than one part the answers to those parts are to he written tngether

(iiy LExplain in briel, the importance of
satellites. 1+2=3
(i)
(i

What is "Roman eliect”?
Describe the contribution oi” Sushruta
in the field of science. 1+2=3

Wrile un essay on Dairy industry. 3
(i) Detine the term "Antibody”.

(iiy Explain the process ol blood

transfusion. 1+2=3
Write down the main causes of road -
accidents., 3

Bxplain the (ollowing in briel :[+1+1=3
(1) Presbyopia (Preshyopia)

(ii) Regular reflection
{ii1)  Power ol lens

Section - C

Wrile a paragraph on Adulteration in
food products. 4
(i
(i

What 1s digestion?

Explain the human digestive sysiem
with help of diagram. 1+3=4
Explain the reaction ol metal with
acid, with help of diagram. 2+1+1=4
What is saponilication? Write down
the reaction of saponification.
Wrile the ITUPAC names ol [ollowing :
(1) Isooctane

(i)

(i)
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CH,
(if) CH; >C =CH,

(i1i1) Neopentane

Gv) CH,- r|:H ~CH-CH,

Br C(Cf

26. Write an essay on Chipko - movement. 4
27. (i) DExplain the dihybrid - cross.

(i1) Explain the Mendal's law of
dominace. I+2=4
Section - D

28. Describe the construction and working of’

alternation current generator. 22+2'4=5

mm .

OR
Cualculaie the equivalent resistance ol the
following circuit.

380

380
30

0
A \iﬂ P 1\9_/ B

29,

Explain in detail Rutherford's gold foil
experiment. 5
OR

An object of 6 kg dropped down [rom
height of 3 Meters then calculate the
change in potential energy.

Explain the biodiversity Hot Spots, in
detail. 5

Subject : Science
Class : X (Tenth)

Time : 3% Hrs.

General Instructions :

Model Practice Paper —3

M.M.: 80

{1}  Candidate must first write their Roll Nos. on the question paper.

{2y All the questions are compulsory.

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

is continnity.

Section—A

1. Define the Regular and Dillused

reflection? |
2. Name the various Lypes ol Coul. |
3. What is National - park? 1
4. What do you mean by power ol Lens? |
5. Name the various methods ol icrigation. |
6. Name  various components of

petroleum. l
7. What 15 the function of sphincters. 1

Eak B

10,
11.

12,

Write the function of testis in make

reproduction sysiem. l
Write the scientific name of two oil
producing plants. l

‘Write name the disease found in hen. 1

Wrile the general formula ol Alkune and

Alkene. h+a=1
Scetion - B

How micelles are formed? Explain its

cleaning mechanism? 1+2=3
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3.

15.
16,

17.

19,

20.

21.

Eak B

[+2=3
Dillerentiale the Bio - degradable
waste and Non - biodegradable waste.

{1)
(i)

What is Recycle.

1) What is Frosion?

(i1) Describe the two types of Erosion
lorees. [+2=3

Explain the Indian cosmology of origin

of universe. 3

Explain the importance of India in World

Space Mission? 3

{1) Write the contribution of Dr. A.P.I.
Abdul Kalam in the iield of science.
(ii) Match the following : 1+2=3
(17 Bird man ol India (a) Sushruia
(2) Missile man of {b) Abdul
India Kalam
(3) Father of plastic  (¢) Dr. Bhabha
Surgery
(4) Father of atomic  (d) Salim - Ali
science
(1) Give the importance of Animal
Husbandry.
(i1) Give the process to vield silk from
silk worm. [+2=3
{1) What is blood donation? Explain.
(iiy  What is blood?
(iii) Explain the ABO blood grouping?
I1+1+1=3
Write down the main reasons of road-
aceident. 3
{1) What 1s total internal reflection?
(iiy Make the skewch ol image (ormation

by convex lens when object is in

between 27 and [7). 1+2=3
Section - C

Wrile the properties ol drinking waler.

Write the adverse effects of

contaminated waler.

Write the losses of consuming

Lobaccw.

Explain the "Malnutrition".

D
(ii)

(iii)
(iv)

23.
24.
25.
26.

27.

28.

29,

I+1+1+1=4
Muke a labelled diagram ol human
respiratory system. 2+2=4
Explain  the mechanism  of
"Respiration” in human beings.
Explain Redox reaction with un
example?
DiiTerentiale belween the physical
and chemical changes. 2+2=4
(iy Describe the structure ol 'Tullerene".
(11) Write the uses of "Fullerene". 2+2=4
Describe the species which are clussilied

by TUCN. 4

(i)
(i)
(i)

(i)

(Y Give the reasons (or Mendel's success.
(i1) Differentiate between the Genotype
and Phenolype. 2+2=4
Section - D
(i) Wrile the "Right hand rule”.
(i1) What is Ohm's law.
{ii1) Give the experimental verificalion ol

ohm's law by making suitable circuit

diagram. I+1+3=5
OR

Calculate the equivalenl resistance

batween point A and B of following circuit.

30
AARAAN

Enumerate the merits and De - merits of
Mendeleev's periodic lable. 5
OR
Average power ol a relrigeraior is 100 W
then calculate the energy consumed by
relrigerator in a day.
(i) Explain various levels of Bio -
diversily.
(11) Write a short note on conservation of
Bio - diversity. 2+3=5

.
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Time : 3% Hrs.

Subject : Science
Class : X (Tenth)

General Instructions :

I

o

oo

10,
L1,

12.

14,
15,

16,

Eak B

(1)
(2}
3)
{4)

All the ¢guestions are compulsory.

is continnity.

Wrile name ol a neurotransmiiter. |
Write lens formula. 1
Write two uses of a convex mirror. L
Wrile lwo name ol endangered species. |
What is the meaning of the word Alien? |1
Which organism has given rise o the

crisis of global warming? 1
Which acid is lound in sting of red ant? 1
What is test cross? 1
Write the botanical name of two medicinal
plants? l
What is energy? Write the unit of
energy. l
Name the first space craft to more outside
the solar system. 1
What is roman effect? What is its
imporlance? 3
What is hypermetropia? How this defect
is corrected? 3

Writ the reasons of success of Mendal.3
Differentiate between soap  and
detergents? 3
What are wvestigial organs? Write the
name ol one vestigial organ ol the human

body. 3
Whal are oceanic currents? 3
What is the punishment for using a cell
phone during driving? 3

Model Practice Paper —4

19.
20.

26.
27.

28.

29.

M.M.: 80

Candidate must first write their Roll Nos. on the question paper.

Write the answer tn each question in the given answer book only.
For question having more than one part the answers to those parts are to he written tngether

What does the recycling mean? 3
‘What i3 the function of hinge in an
anlibody? 3
Write difference batween physical and
chemical changes? 3
What is Kwashiokor diseuase? Write il's
symptoms? 2+2=4
Wrile dillerences between Diamond and
Graphite? 4
Write the 1ypes ol Biodiversily
conservation, 4
A machine akes an object ol 40 Kg mass

to a height of 10 m. calculate the work

done. (g = 9.8m/s?) 4
Explain the method to obtain silk. 4
Write short note  on  "Chipko
movement”. 4

Derive necessary formula for equivalent
resistance ol a series combination of
resistance giving proper circuit diagram.
OR
Explain the nature and position of image
with the help ol ray diagram lor a concave
lens when object is places. 5
(1) AL locus point ol lens.
(ii} Between focus f| and 2f|.
(i) Between 21, and inlinity.
Write a detailed nole on the human
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Time : 314 Hrs.

digestive system. Explain the importance

ol the enzymes in the digestive system.
OR

Give circuil diagram ol experimental

verification of Ohm's law. Explain it.

mm .

30.

Write Mendeleef's Periodic law? T.ist
merils and demerits ol Mendeleel™s
Periodic table? 5

Subject : Science
Class : X {Tenth)

General Instructions :
(1)  Candidate most first write their Roll Nos, on the question paper.

LI by o—

A

6.

9.
10,

11.

Eak B

{2)  Allthe questions arc compulsory.

Model Practice Paper —5

M.M.: 80

3)  Write the answer to cach question in the given answer book only.
{4)  For question having more than one part the answers to those parts are to be written together

is continuity.

Scetion—A
Deline Neurons? 1
Write functions of prostate gland. 1
Draw structural formula ol Benzene. 1
Energy efficiency of a motor is 80% then

how much energy is dissipaled? |
Write Bond Angle of Methane? 1
What is the unit of Human Excretory
System? 1
Which Power plant used photo Voltic
cell? 1

In which combination of resistance
potential dilference value is same ol the
ends of each resistor? 1
What are Endangered species? 1
In which part of alimentary canal
maximum digestion and absorplion takes

place. 1
Wrile bulanced equation ol combustion
of methane. 1

12

13.

14.

[—
[y

16.

{iti)

(i) Define catalysis. Give an example.
(1) Define catalytic Bomotor and
catalylic poision.
Differentiate between Homogenous
and Heterogenous catalysl. [+1+1=3
Classily earth guake on the basis ol
intensity. Also describe adverse effect of
earthquake. 3
(1) A 12 Volt and 60 W bulb used 1
headlight ol a car. Caleulate electric
current used by this bulb.
(iiy  Which things are kept in mind lor
proper eye sight. 1Va+1'4a=3
Write ancient methods of water collection
in Rujasthan? Write iwo ellective way ol
conservation of water. 1+2=3
(i) Deline Displacement reactions?
(i1) Identified "Z" in these chemical
reaclion. 1+2=3



https://www.print-driver.com/?demolabel-en

. s

() Zn+CuS0, > 2Z+Cu

(b) Na,SO, +BaC¢, — Z+2NaC/
17, Which are major tactors ol social lorestry.
Explain it. 3
18. (i) Which Indian scientist awarded by
Lenin peace prize for their peaceful
scientilic works?
(11) What 15 Roman effect? What is it's
imporlance? 142+ 14%2=3
19. Wrile LUP.A.C. names :

el

CH,
i) '1>CH—CH=CHj
' CH, )

(i CH, - LlH - L|H -CH,
Cf NO,
(iii) CH,-C=C-CH, -1
200 (1) What is the Merits of erosion forces

in Agriculture?
Write four causes. Which helps in
Y2+ 1Y2=3
What material aduttnated in mustard
oil? [+1+1=3
Why adulteration is done in food
materials?
Explain  harmful
adulteration in food materials?
Define Allotropes?
Write names of difference allotropes
of carbon.
Write any 2 differences b/w Diamond
and Graphite. 1+1+2=4
. Write law of Right Hand Thumb rule.
Describe with diagram how an iron rod is
converted into magnet with help of current
carrying solenoid. 1+3=4
(i) Write difference between Genotype
and Phenolype.

Eak B

(ii)
ETOSLOI.

21, 1)
(ii)
(iii)

22, 1)
(ii)

(iii)

effects of

(ii)

25. (i)
(i)
{iti)

26. (i)

Explain ; 242=4

{a) Monohybrid cross

ib) Dihybrid cross

Write chemical lormula oi Plaster of

Paris and it's method of preparation.

What happens when Plaster of Paris

reacts with walter.

Explain uses of Plaster of Paris.
2+1+1=4

Draw circuit diagram for 3 resistance

connect in series and Derive lormula

for Equivalent Resistance of this

combination.

(i1) Derive equivalent resistance for this
cireuil. 3+1=4
20 40 60

AT AV AV AN NS AN
I {3
| LY

27. ()

(ii)

(1)

(i)

28. (i)

(i)

Define bio diversity hotspot? Explain
brielly indo - Burna hot spot.
Explain any 2 biodiversity hot spots
in India.

OR
Deline endemic species? Gives 2
examples.
Name the dillerence calegories in
which species are classified by IUCN
on the basis of congervation. 2+2=4
Draw labelled diagram of Endocrine
syslermt.
Write down names ol dilferent
endocrine glands present in human
body and also write hormones
secreted by them.
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(111)

i)

(ii)

(iii)

29. (i)

(ii)

(iii)

M
(i)

Write functions of Hormons, swhich

ave secreted by Thyroid and Adrenal

gland. 1+2+2=5
OR

Draw labelled diagram of Male

Reproduciion system.

Explain functions and write names

of different  parts ol Male

Reproductions system?

Where Prostate glands are found?

Explain their [unctions.

Explain major properties of

Mendeleev periodic Lable.

What are limitations of Mendeleev's

periodic Lable.

Write any two achievements of

Mendeleev's periodic luble.  1+2+2=5
OR

Deline isolopes? Give any example.

Write Hypothesis ol Niels Bohr

atomic model.

)
30. ()
(ii)
(i)

{iv)

(1)

(ii)
{iti)

{1v)

mm .

Explain draw backs of Boht's atomic
madel.
Power of lens 15 2.5 D. what is it focal
length.
Which part of human eye, control
light quaniily enlering inlo eyes?
Write name of mirror used in
headlighis of cars.
Derive mirror lormula lor image
formation via concave mirror, within
the help ol Ray-diagram.

OR
Rudius ol curvature (or a spherical
mirror is 20 Cm. what is it's focal -
length?
Which mirror used as side view rear
mirror in vehicles?
What is power of any concave lens,
whose local length is 200 em.
Explain laws of refraction of light,
with the help of ray diagram. Draw
ray diagram also. L+1+1+2=5
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18.

19.

20.

21.

22.

23.
24.

25.
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Time : 3% Hrs.

Subject: MATHEMATICS
Class : X (Tenth)

General Instructions :
{1}  Candidate must first write their Roll Nos. on the question paper.

L1,

Eak B

{2y All the questions are compulsory.

Model Practice Paper —1

M.M.: 80

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

is continnity.
Section—A

Find the value of (14]3 by Nikhilam

Sutra. 1
Solve the equation ol : l

| | | 1
+ = +
-8 x-9 x-5 x-12
Find the HCF of 12, 15 and 21 by prime
lactor method. |
Find the value of 2 sin 43 cos 45°, |
II' the length of a vertical bar Lo its shadow
is equal then find the elevation angle of
sun. 1
Write the name of the point of
perpendicular bisectors ol three sides ol a
triangle. 1
Wrile the number ol circles puassing
through three non-colinear points. 1

A coin is wossed twice. Find the probability
of getting at most one tail. |
Find the stopping distance of a vehicle if
reacting distance is 2m and breaking

distance is lm. 1
What is the shape ol red signal light in
traffic signs? 1

Scetion—B
Find the square of 27 by using Dwandwa
Yogu method. 2

13.

14.

16.

17.

18.

Prove that /3 is an irrational number. 2

The total surface area ol a cube iy
216 square meter. Find the volume of
cube. 2
The radius of the base of a cylinder is
14 ¢m and height is 8 em. {ind the area ol
the curved surface of the cylinder. 2
For wallic control, 2 CCTV camera is
fixed on a 15 em straight pole. The camera
can see 113 m distance sight line {rom the
top. Find the traffic area visible by camera
around the pole. g
Section—C
I o and B oare the roots of guadratie
equation %2 — 3x — 10 = 0, then find the
vilue of o +5°. 3

A sum o Rs. 3000 is invested a1 6%
simple interest per year. Calculate the
interesl at the end ol each year. Do these
interests form an A.P? if so, find the
interesl al the end ol 25 years making use
of this fact.

The angle ol elevation of the lop ol Lower
from two points C and D at a distance of
A and B from base ol the lower in the

same straight line with it are
complementary. Prove that the height of
the tower is Jah . 3
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9.

21.

Prove that the length of tangents drawn
lrom an exlernal point o a circle are
equal. 3
In the given ligure it OP . OQ =0R . OS
then show that LOPS = ZORQ and
Z0QR = Z0OSP. 14+144=3
R

P

Q

Construct a tangent to a circle of radius
4 cm [rom a poinl on the concentric circle
of radius 5 cm and measure its length.
Also verily the measurement by actual

-

calculation, 3

22, The radius of circular park is 4.2m. A

path at 1.4 m width is made around the
cireular park. Tind the area ol path. 3

. If the perimeter of a circle is equal to the

perimeler ol a squave then (nal the ratio
of their area. 3

24. The radius ol a glass sphere is 5 em, how

25.

Eak B

many spheres of a radius Smm can be

>

made [rom iL. 3
What 1s the probability that two dice are
tossed ogether that the sum ol the numbers
of both dice is 7? 3
Scetion—D
Solve the (ollowing pair ol linear equation
by garaphical method and final value of
w'owhere us 4x + 3y = 4, x + 3y = 6

2x - 3y =12 5+1=6
Prove that : 3+43=4
W - sin @ N l+‘cos B =3 cosec O

14+ cosd sin B

I+sec A sin A

(i)

sec A B l—ciwA

OR
(1) I A, B and C are interior angle ol a
triangle ABC then prove that :

(B +C J A
Lan =col —
2 2

(i1) Find the value of :
sec 50° sin 40° + cos 40° cos50°
28. If mid points of the sides of the triangle
are (1, 2y, (0, -1) and {2, -1) then [lind
the coordinates of the vertices of the
triangles. 24+2+2=64
Prove that the largest chord of the chords
ol the cirele is close 1o the cenler. 6
OR

Prove that the angle subtended by an arc
al the centre of the cirele is Lwice the angle
subtended at any point on the remainder
ol the circle.

30. (i) If the mean of the following

distribution is 7.5, lind the value ol
P. 34+3=0

29,

X: 507191113
- |6|8(15|p| 8

Lad

(iiy Find the mode ol the lollowing
frequency distribution.

Class | 0-20]20-40 [ 40-60 | 60—80 | 80—100
Frquency | 3 15 24 8 5
aa3a
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Time : 3% Hrs.

Subject: MATHEMATICS
Class : X (Tenth)

General Instructions :
{1}  Candidate must first write their Roll Nos. on the question paper.

wd

Eak B

{2y All the questions are compulsory.

Model Practice Paper —2

M.M.: 80

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

is continnity.

Section—A
Multiply the 108x112 by sutra Nikhilam. |
By Suira Ekadhikenapurvena (ind the

square of 45, 1
What is the locus ol the paints equidistant
from two parallel lines. 1

The longest chord ol a circle is calls? 1
Express the number 468 as a product of
ils prime [aclors. |
Find the value of : 1

cos 45 cos 60 —sin 45 sin 60

Ltan 10

col 80 1

Find the value ol :
From a point on the ground which is
100 m away from the foot of the tower,
the angle ol elevation ol the Lop of
the tower is 60; then find the height of
Lawer. 1
In a throw of a die, determine the
probability ol gelling a number more
than 4. 1
I the rent of 4 taxi (or the lirst Km is
Rs. 15/- and after that Rs. 8/- for every
kilometer. Then how much rent would
have to be paid for 12 Km. 1
Section—B

. Caleulate the square root ol 4225 by

vedic method. 2

14.

16.

17.

18.

19,

20.

Prove thal number g4 /2 are irrational.2
The dimensions of a box are 50 cm x
36 em x 25 em. how much sg.em. cloth
will be requirad for making cover of this
box? £
The diameter of a cylinder is 14 cm and
height is 15 em. [ind the otal surlace area

of cylinder. 2

Solve the lollowing liner pairs by graphical

method. 2
2x =5y +4=0; 2x+y-8=10

Section—C
A wheel covers a distunce ol 88 melers
in 100 rotation. Find the radius of the

wheel. 3
Find the volume ol sphere il its surlace
area is 5544 cm?. 3
On dividing polynomial

[{x)=x"=3x"+x+2 by polynomiul
g(x), quotient q (x) and remainder 1(x) are
oblained as x — 2 and —2x + 4 respectively

-

then find polynomial g(x). 3
Show the solution set of the xz=2
inequalities, graphically. 3
Find the sum ol 51 terms of an AP in
which 2" and 3" terms are 14 and 18

)

respectively. 3
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24, Due to some reason 12 faulty pens are

cos A o8 A K . . .
2. TF =m and — B =10 then, prove mixed in 132 good pens. By inspection
cos B s are can not judge that which pen is faulty.
that - (mg +ng]cosg B=n’ 3 I one pen is drawn at random then what

is probability that this pen is gond one? 3

22. In the given fig. DE || BC, Il AD = x, 25, On a straight road the (irst, second ant

DB=x-2,AE=x+2and EC=x- 1, the third traffic signals are placed on a distance
lind the value of x. ¢ 3 ol 3 km, 5 km and 7 km respectively. Find
the distance at which the 10% signal is

E placed. 3

Section—D
26. The angle of elevadon ol the wp of
a pillar from a point on the ground is
152 on walking 100 m towards the tower,
the angle of elevation is found be 30°
Find the height ol tower. |[where
lan 15= 2—\/5] 8
27. Il point P (3, 5) divides line segment
which joins A (-2, 3) and B in the ratio
4 7 intemnally, then lind the co - ordinates
of B. )
28. Prove thal opposite angles ol a
quadrilateral are supplementary or their
total is 180°. 6
29. In aright angled A ABC, £ZB =60°. If
points D and [ on the AB and BC
respectively then prove that. 6
AE? + CD? = AC* + DE-

A D B

23. In the given fig. find the all four angles of

o

a cyclic quadrilateral ABCD. 3

30. TFind the mode rom lollowing lrequency distribution. 6
Marks obtained | 0 —10 | 10-20 | 2030 | 30-40 | 40 - 30 | 50— 60
No. of Students 5 12 14 L0 8 6
OR

Find the arithmetic mean Irom grouped [requency distribution.
X 0-6 | 6-12 | 12-18 | 18-24 | 24-30
I 6 8 10 9 7

mm .

g S <
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Time : 3% Hrs.

Subject: MATHEMATICS
Class : X (Tenth)

General Instructions :
{1}  Candidate must first write their Roll Nos. on the question paper.

wd

Eak B

{2y All the questions are compulsory.

Model Practice Paper —3

M.M.: 80

{3y  Write the amswer tn each question in the given answer book only.
{4y  For question having more than one part the answers to those parts are to be wriiten together

is continnity.

Section—A
Find the square of 16 by using Sutra
Nikhilam. |
1 1 1 1
+ = +
x-1 x-4 x-2 x-3
Find the HCF ol integers 375 and 675 by
the prime factorization method. 1
II' ZA < Z90° and ZB < 90 and sin A =
cos B then prove that A + B = 90°, 1
The ratio ol a vertical pole and ity shadow

Solve : 1

is 1:4/3 then lind the angle ol depression
of sun. 1
Find the locus of the point in the interior
ol tnangle which is equidistant irom three
sides of triangle. 1
Wrile the number ol circles puassing
through three non-colinear points. 1
One card is drawn Iram a well - shuliled
deck of 52 cards. Calculate the probability
that the card will not be an uce. 1
Is B.V.C certificate compulsory for all the
vehicles which are running on the road? |

. Define stopping distance. 1

Scetion—B
Divide by using Dhwajank method @ 2
13579 + 975

. The product of two polynomial is (x - 7)

13.

14.

16,

17.

18.

19.

(x? + 8x + 12}, HCF is (x + &), then {ind
LCM. 2
Three cubes ol edges 8 em, 6em and Tem
are melted and recast into a new cube.
Find the 1otal surface area oi the new cube
so formed? 2
The diameler ol a sphere 1s 0.7 ¢m. [ind
the volume of the water taken out of a
tank it 3000 completely [illed spheres are
used to empty the tank. 2
For wallic control, 2 CCTV camera is
fixed on a straight and vertical pole. The
camera cun see 113 m distance straight
line from the top. If the area visible by the
camera around the pole is 39424 m2,
then find the height of the pole. 2
Scetion—C
Find the zeroes 3x> + 5x — 2 and test
the relation  between and
coefficients? 3
How many terms of the AP. L7, 15,
13,...... , must be Luken, so that their sum
iz 817 3
A boy 2 m long casts a shadow | m long
on the plane ground. At the same time, a
tower custs a shadow 5 m long on the
ground. Find the height of the tower. 3

LZETOES

In lig QA and QB are perpendicular on
AB, il AB = 16 cm, OQ=3+/13 cm and
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20.

21.

22,

24,

25.

Eak B

OP = 3+/13, then [ind the value ol AO

and BO. 3

a
In triangle ABC medians AD, BE and CF
interest point G. Prove that :

AD+BE>%AB. 3

Prove that: Angle in a semicircle is a right

ungle. 3
Taking O as centre and radius 2.4 cm
draw a circle. Making an angle ol 60
between two radius OA and OB drawn,
drawn Langents al points A and B of OA
and OB respectively which intersect each
other at T. measure the angle ATB. 3

. In given figure radius of semi-circle is

7 em. lind the arc a ol circle lormed in
sem circle. 3

P a—7cm—=R &

o]

The volume and curved surface area of a
eylinder is 1630 e¢m and 660 syg. cm. lind
the radius and height of the cylinder. 3
A piggy bank contains hundred coins of
Z 1, twenty five coins of ¥ 2, fifteen coins
ol 5 and ten cons ol F10. 11 is equally
likely that one coin will (all, when the
bank is turned upside down, what i1s the

28.

29,

probability that the coin: 3
(1) Will be a ¥2 coin?

(i1) Will no be a ¥5 coin?

The cost of 2 exercise books and 3 pencils
37 and the cost of 3 exercise books and
4 pencils is 24, Formulate the problem
algebraically and solve it graphically. 6
Prove thal : 6

~ lan A-sin A sec A-1
1 tan A+sin A sec A+l

1+cos A
=cosec A+ col A

(i) l—cos A
OR
(1) In secB+ tan 8 =p, then prove that :

5

p -1
p3+1

(il Prove that :

=sin B

col A+uciomsec A-1 l+cos A

cos A —cosec A +1 sin A

(i) Prove thal the points {1, -2) {3, 0),
i1, 2) and (-1, 0) are the vertices of a
square.

Find the co - ordinates of the points
which divide the line segment joining
the points -4, 0) and (0, 6) in four
equal paris. 6

(ii)

Prove that in o triangle, if square of
one side is equal w the sum ol the other
two sides, then the angle opposite the
angle. 6
OR
In lig. ABCD is a cyclic guadrilateral
in which AD = BC and £ZADC = ZBCD.
Prove that ABCD is a eyclic quadrilateral.
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A N M Age (in years) Number of policy
L | B holders
Below 20 2
: Below 25 )
D c
Below 30 24
30. A life insurance agent found the following Below 35 45
data lor distribution ol ages ol 100 policy Below 40 78
holders calculate the median age. If RBelow 45 80
politics are given only Lo person having Below 50 g2
age + 8 years on words but less then Below 55 98
RS 6 Below 60 100
i

999 &% [ 83
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